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QUESTION 1

When a cluster member is completely powered down, how will the other member identify if there is network
connectivity?

A. The working member will ARP for the default gateway.

B. The working member will look for replies to traffic sent from internal hosts.
C. The working member will automatically assume connectivity.

D. The working member will Ping IPs in the subnet until it gets a response.

Correct Answer: D

QUESTION 2

Since R76 GAIA, what is the method for configuring proxy ARP entries for manual NAT rules?
A. WebUI or add proxy ARP ... commands via CLISH

B. SmartView Tracker

C. local.arp file

D. SmartDashboard

Correct Answer: A

QUESTION 3

"If the machine is under stress, we do not want to leave the stress condition due to a single measurement (which could
be an anomaly), but rather wait for a given length of time, before changing the condition.” ...describes which of the
following "Bypass under Load" setting kernel parameters?

A. ids_assume_stress

B. ide_tolerance_no_stress

C. ids_tolerance_stress

D. ids_timeout

Correct Answer: A

QUESTION 4

Which of the following BEST describes the command fw ctl chain function?
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D

A. View how CoreXL is distributing traffic among the firewall kernel instances.

B. View established connections in the connections table.

C. View the inbound and outbound kernel modules and the order in which they are applied.
D. Determine if VPN Security Associations are being established.

Correct Answer: C

QUESTION 5
Your company has recently decided to allow remote access for clients. You find that no one is able to connect, although

you are confident that your rule set and remote access community has been defined correctly. What is the most likely
cause, based on the options below? You have the following debug file: A. RDP is being blocked upstream.

Ll Check Point

')

New incoming connection: 68, tunnel: 92 peer: 172.26.247.28
(vpnd 3885 198268388819FH_1017 Nov 15:87:89) lkeTcptDataHandler: Recieved 328 by
tes on tunmel 92 for connecton 68 (peer: 172.26.247.28)
lvpnd 3885 1982683888 18FH_1017 Nov 15:87:89] TCPTConnection: :HandlelncomingData:

Received 328 bytes on TCPT Connection 68 (peer: 172.26.247. , tunmel: 92)
[vpnd 3885 19826838881eFH_1117 Nov 15:87:89] fwisakmpd_process_incoming_data: Re
ceived TCPT packet from 172.26.247.28 (port: 8) len: 328
[vpnd 3885 1982683808 1eFH_1017 Nov 15:87:89) GetEntrylsakmpObjectsHash: received

ipaddr: 14f71laac as key, found fwobj: HULL
[upnd 3885 198268388818FH_1017 Nov 15:87:89)] getConfiguredlkeVersion: RA configu
red to use ikevZ only (peer: 172.26.247.28).
[vpnd 3885 198266838881eFH_1017 Nov 15:87:89]1 Message: :Message: New incoming requ
est from original responder with message id 8
[vpnd 3885 1982683888 12@FH_1[17 Nov 87:89] Message:: sage: i-spi: 20aeZef1dd
98272e, r-spi: BBBBAEBBBBBABABAE, n : 1, version: 16, « ype: 2, flags: B8 (enc
[vpnd 3885 1982683688818FH_1017 Nov 15:87:H¢ fuisakmpd_process_incoming_data: re
ceived a packet of an unsupported ike wversir for peer 172.26.247.28 (packet ver
sion: ikevl, configured version: ikew2)

22014 Check Point Softwere Technologies Lid 1
B. You have selected IKEv2 only in Global Properties > Remote Access > VPN Authentication and Encryption.
C. Remote access clients are all behind NAT devices.
D. Implied rule is not set to accept control connections.

Correct Answer: B
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